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Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the other three
in pronunciation in each of the following questions.

Question 1: A. take B. change C. replace D. plan
Question 2: A. here B. where C. there D. bear
Question 3: A. about B. how C. amount D. know
Mark the letter A, B, C, or D to indicate the correct answer to each of the following questions.
Question 4: More and more people are moving to areas to look for better job opportunities.
A. rural B. urban C. agricultural D. economical
Question 5: My company is looking for graduates from technical universities, who are willing
to work hard.
A. dedicated B. respectable C. talented D. generous
Question 6: The new album is one of her greatest . It sold 100,000 copies just in the second week.
A. achievements B. generosity C. dedication D. reputation
Question 7: The farmers in the countryside usually have faces because of working too hard in the
open air.
A. thought-provoking B. day-to-day
C. wide-ranging D. weather-beaten
Question 8: It’s more and more difficult for young people to find job in rural areas.
A. well-paid B. never-ending C. year-round D. fast-growing
Question 9: If people don’t save energy, our resources will be within a few decades.
A. hazardous B. depleted C. renewable D. harmful
Question 10: Two common symptoms of are coughing and breathing difficulty.
A. pathway B. mildew C. asthma D. clutter
Question 11: We to the hospital to visit Tom when he to say that he was fine.
A. were driving/phoned B. were driving/was phoning
C. drove/phoned D. drove/was phoning
Question 12: While my brother his homework, he suddenly asleep.
A. was doing/was falling B. did/was falling
C. was doing/fall D. was doing/fell
Question 13: After a hard working day. | went to bed and had most beautiful dream ever.
A. the/the B. a/ the C. x/a D. x/the
Question 14: Do you like gift [ gave you on Women’s Day?
A. the/the B. a/the C. the/x D. a/x
Question 15: The rate of urbanization is low, the rate of urban growth is high.
A.so B. but C. however D. though
Question 16: what has happened, | think she will never return.
A If B. Unless C. While D. After
Question 17: Mary was absent from the meeting yesterday, is unusual.
A. that B. which C. when D. what
Question 18: We should all go green by practising the 3Rs: reduce, reuse, and recycle, is always
encouraged by environmentalists.
A. which B. that C. when D. what
Question 19: We should keep the school air clean this will improve students’ concentration and
help them to clean better.
A.if B. because C. but D. and
Question 20: It is important that he into a good university.
A. get B. to get C. be got D. be getting
Question 21. The teacher demanded that the classroom immediately.
A. clean B. cleaned C. be cleaned D. should clean
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Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning to
each of the following questions.
Question 22: The migration of young people to big city has risen dramatically.
A. There has been a dramatic rise in the migration of young people to big city.
B. There has been a dramatically risen in the migration of young people to big city.
C. There was a dramatic rise in the migration of young people to big city.
D. The migration of young people to big city has been increased sharply.
Question 23: During the dinner, there was a sudden power cut.
A. While I am having dinner, there was a sudden power cut.
B. While | was having dinner, there was a sudden power cut.
C. I was having dinner when there was being a sudden power cut.
D. While I had dinner, there was a sudden power cut.
Question 24: Some foods tate good. These foods do not have many nutrients.
A. Some foods tate good because these foods do not have many nutrients.
B. Some foods tate good, so these foods do not have many nutrients.
C. Some foods tate good, but they do not have many nutrients.
D. Some foods tate good and they do not have many nutrients.
Question 25: Nam is intelligent. He is also kind to everyone.
A. Nam is not only intelligent but also he is also kind to everyone.
B. Nam is intelligent, but he is also kind to everyone.
C. Nam is both intelligent and kind to everyone.
D. Nam is both intelligent and he is also kind to everyone.
Mark the letter A, B, C, or D to indicate the word(s) CLOSEST in meaning to the underlined word(s)
in each of the following questions.
Question 26: It is crucial that urban people not look down on rural areas.

A. best B. recommended C. urged D. vital
Question 27: The speaker paused. He hesitated to answer the direct question raised by the audience.
A. wavered B. determined C. continued D. decided

Mark the letter A, B, C, or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s)
in each of the following questions.
Question 28: You will look more respectable if you wear a nice dark suit and a tie.

A. historical B. unworthy C. good D. trustworthy
Question 29: The migration of young people to big cities has risen dramatically.
A. increased B. went up C. decreased D. continued

Mark the letter A, B, C, or D to indicate the sentences that best completes each of the following
exchanges.

Question 30: Lan: "Would you like to join our volunteer group this summer?"

- Nam: " .
A. Do you think I would? B. I wouldn't thank you
C. Yes, you are a good friend D. Yes, I'd love to, thanks
Question 31: Daisy: " Wow, what a nice coat you are wearing!"
- Helen " "
A. Certainly, do you like it, too? B. I like you to say that
C. Yes, of course, it's expensive D. Thanks, my mother bought it for me.

Mark the letter A, B, C, or D to indicate the underlined part that needs correctiopn in each of the
following questipons.
Question 32: While my father cleaned the swimming pool, a car hit the fence.
A B C D
Question 33: | have visited the Portugal but I have never been to the Neitherlands.
A B C D
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Question 34: | suggest that Peter reads the directions carefully before assembling the bicycle.
A B C D
Question 35: What are you doing when | called you yesterday, Daisy?
A B C D

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate correct
answer to each of the questions.

A Tale of Two Cities: Seoul and Dhaka
The city of Seoul, with a population of 10.3 million on 1998, forms part of South Korea’s capital region. As
the capital city, Seoul has been at the center of South Korea’s remarkable economic transformation over the
last four decades.
In the 1960s, much of South Korea’s industrial growth was focused on greater Seoul, which by 1970 had 52
percent of the country’s industrial workers. The major contributor to this growth was rural-urban migration,
which accounted for 50 percent of the country’s urban increase in the 1960s. This very rapid growth of Seoul’s
population placed pressure on the city’s infrastructure, leading to marked growth in new settlements,
increasing traffic congestion, and growing air pollution. This led the government to adopt a national
decentralization strategy in the 1970s that attempted to divert industry to other areas of the country. In the
1980s, continuing efforts were made to decentralize economic activity.
Dhaka’s population of 6.5 million is crowded into 360 square kilometers, creating one of the highest urban
densities in the world. Unlike South Korea, Bangladesh has not experienced rapid economic change, and
agriculture remains the major component of GDP and the main resource of employment. While general
economic conditions have improved somewhat over the last twenty years, Bangladesh is still a very poor
country.
Dhaka’s rate of population growth has declined slightly over the past three decades, but it still remains among
the highest in Asia (4.2 percent annually). The continuing growth reflects ongoing migration from rural areas
to the Dhaka urban region. Recently, the city’s population has also grown as a result of the expansion of its
administrative boundaries, a process that added 1 million people to the city in the 1980s. Dhaka’s growth has
not been associated with an expansion of productive employment opportunities in relatively high wage areas.
Instead, there has been growing employment in the low productivity, low-income sector, such as petty retailing
or rickshaw driving.
Question 36: The main reason of Seoul’s population growth in the 1960s was
A. the development of industry B. remarkable economic transformation
C. rural-urban migration D. its role as a capital
Question 37: All of the following are the problems that the authorities of Seoul had to deal with
EXCEPT :
A. infrastructure B. rural-urban migration
C. traffic congestion D. housing
Question 38: We can infer from the passage that the reason of the national decentralization strategy in the
1970s and 1980s in Seoul is that

A. other regions demanded for industry development B. there were no industrial complexes in the south
C. it would place pressure on other cities D. Seoul seemed to be destroyed its capacity
Question 39: All of the following are true about Dhaka EXCEPT that

A. its population always increase steadily B. its urban growth rate is one the highest in the world
C. people live mainly on agriculture D. many people live in poverty

Question 40: One of the differences between the urban growth between Seoul ans Dhaka is.

A. rural-urban migration B. urban boundary extension

C. employment opportunities D. high urban densities

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the
correct word for each of the blanks.



Rapid urbanization can hold long-term economic, social and environmental promise for developing countries
(41) investments made now in infrastructure, housing and public services are efficient and sustainable,
the World Bank says in a new report.

In the next two decades, cities are (42) __ to expand by another two billion residents, as people move in
unprecedented numbers from rural areas to pursue hopes and aspirations in cities. More than 90% of this urban
population growth is expected to occur in the developing world, (43) __ many cities are already struggling
to provide basic needs such as water, electricity, transport, health services and education.

Report authors note that most new urban growth will not take (44)  in the “megacities” of the world e.g.
Rio de Janeiro, Jakarta or New Delhi but rather in less commonly recognized “secondary” cities - places like
Fushun in China, and Surat in India.

To help policymakers prepare for and manage growth, the report distills lessons learned from 12 countries
across all geographic regions and stages of urbanization. It then translates these global lessons (45)
practical policy advice.

Question 41: A.if B. unless C. whether D. while

Question 42: A. predictable B. predicted C. predicting D. predictions

Question 43: A. what B. where C. which D. why

Question 44: A. form B. hand C. place D. time

Question 45: A. by B. into C.upto D. up with
THE END




